Objective

How do Voltage and Current get dispersed in a Circuit when there is one component? When there are two components in series? When there are two components in parallel?

Data Anaysis 

1) In a series with one cell, one bulb, and a switch the voltage across the bulb was 1.89V. The voltage across the battery was 1.9V. We observed that the voltage of the bulb was directly proportional to the voltage of the Cell. 

2) In a series with two cells, one bulb and a switch voltage across the bulb was 3.27V. The voltage across the battery was 3.6V. We observed that the bulb was significantly brighter with two batteries. 

3) In a circuit containing two cells, two bulbs, and a switch in series the voltage across the battery was 3.02V. The voltage across the bulb 1 was 1.5V and in bulb 2 was 1.52V. We found out that the voltage of each bulb was the total voltage from the battery. Also we observed that you remove one bulb from the circuit that nothing lights up. This is the case because it is in a series and once you remove one part of it the series in incomplete and thus nothing works.
4) In a circuit in with two cells, two bulbs, and a switch in parallel the voltage across the battery was 2.82V. The voltage in the bulb 1 was 2.27V and in bulb 2 was 2.22V. We observed since this circuit was parallel that the voltages were all relatively the same.
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Conclusion 

We concluded that when there is one component in a circuit, voltage the same or significantly similar to the voltage of the cell or battery. When there is two components in series the voltage is divided by each component. When the two components are in parallel the voltage is again equal but isn’t divided by the voltage of the cell or battery. It was the same voltage as the cell or battery.
